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(D) 3 planes intersecting

Intersection of PLANES

(B) parallel planes
(same normal)

A

(C) 3 planes intersecting
at a single point
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(E) 2 parallel planes

on a line 1 transversal
inconsistent case
P
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Examples: /
rT+y+z="7 T+2y—2z=4
A B [
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(%%Z) = (%7%_15725)
x4+ 3y +4z=12
2z + By + 22 = 20

4z + 11y + 102 = 44

(D)

(z,9,2) = (14t,4 - 6t,t)

inconsistent system

(E)

Note: 2 of 3 planes are parallel

r+2y—z=4
3z +y+2z=10
20 +4y — 22 =10

inconsistent system

/

(F) no pairs of parallel planes
inconsistent (Tent Case)

> P
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r+4y+22=28
(C) {3z + 10y + 10z = 30
Tr+4y +22 =28
(z.9,2) = (%.4.3)

—r+4y+2z=5

T+2y—z=4
20 + 4y — 22 = 8

(F){ 3z—13y+2=6

or — 22y + 42 =20

inconsistent system

Note: no two of the planes are parallel



